EA Development Requirements Book
E Atrades based on MA indicators
A. The establishment of the average line and the straight line
1. Set up a fast average (referred to as a fast line). You can debug parameters,which should be consistent with the MT5   average indicator  parameters, including: stage (time period), method (use Simple by default),apply (use Close by default), style (color, line type, weight), price(close, open, high, low). 
2. Set up a slow moving average (referred to as a slow line). You can debug parameters,which should be consistent with the MT5   average indicator  parameters, including: stage (time period), method (use Simple by default),apply (use Close by default), style (color, line type, weight), price(close, open, high, low). 
3. Set up a trend line. Trend  line automatically extends to the right over time and price, red line when the trend line moved up, green line when trend line moved down, parameters can be debugged: color, line type, line width. 
4. Set up a price line. The horizontal line automatically extends to the right as it progresses over time. Parameters can be debugged: the starting point of the horizontal line, which is determined by time and price. 

B. Transaction
1． Fast line from the bottom through the slow line to open long positions to close short positions, fast line from the bottom through the slow line to open long positions.
You can debug parameters:
a. Stop loss and take profit points.
b. The fast line from the bottom through the slow line can be set to open more than flat, or only close positions do not open more positions; 
c. Fast and slow lines cross or fit without trading. 

2． Fast line from  the bottom through the price line to open more positions to close short positions, fast line from the upper and lower through the price line to open positions to close more positions. 
You can debug parameters:
a. Stop loss and take profit points.
   b.Fast line from the bottom through the price line can be set to open more open more open short, or only close positions do not open long positions;  
c. Express and price lines cross or fit do not trade. 

3. Fast line from the bottom through the trend line to open long positions to close short positions;
You can debug parameters:
a. Stop loss and take profit points.
b. The fast line from the bottom through the trend line can be set to open more than flat, or only open positions do not open long positions; 
c. Express and trend lines cross or fit without trading. 
4. When there are short positions, if the occurrence of fast downline through the slow line, or horizontal line, or trend line, then add positions to open short positions. When there are multiple positions, if a fast line occurs wearing a slow line, or a horizontal line, or a trend line, then add positions to open more positions. 

C. Other requirements:
1. Other adjustableparameters; 
2. Provide clear and complete source code.
3. Provide secondary optimization development, of course, which is paid for. 
D. The following provides a reference to the indicator code (code taken from the "Boy Cloud" indicator): 
MA55:=MA(C,55);
DRAWTEXT(CROSS(EMA(C,5),EMA(C,10)),L,'FONTSIZE10,VALIGN0,COLORYELLOW;
DRAWTEXT(CROSS(EMA(C,10),EMA(C,5)),H,','FONTSIZE10,VALIGN2,COLORWHITE;

//DRAWCOLORLINE(C>MA144,MA144,COLORRED,COLORCYAN),LINETHICK2;
PARTLINE2(MA(C.55),C>MA(C.55),COLORCYAN,C<MA(C.55),COLORCYAN),LINETHICK3;

Main trend lines: EMA (EMA (C, 10), 10), COLORRED, LINETHICK3; 
B: - Main trend line and REF (main trend line, 1); 
IF (B-1, Main Trend Line, DRAWULL), COLORGREEN, LINETHICK3; 
AA:=EMA(C,5) > EMA(C,20);
BB:=EMA(C,5) < EMA(C,20);
CC:= EMA(C,5) > EMA(C,10);
CC1:=EMA(C,5) < EMA(C,10);
DD:=CLOSE<OPEN;
STICKLINE(AA,H,MAX(C,O),0,0),COLORRED;
STICKLINE(AA,L,MIN(C,O),0.0),COLORRED;
STICKLINE(AA,O,C,10,1),COLORRED;
STICKLINE(AA AND DD,O,C,10,0),COLORRED;
STICKLINE (BB,H,MAX(C,O),0.0),COLORGREEN;
STICKLINE (BB,L,MIN (C,O),0.0),COLORGREEN;
STICKLINE(BB,O,C,10,1),COLORGREEN;
STICKLINE(BB AND DD,O,C,10,0),COLORGREEN;
STICKLINE(BB AND CC,H,MAX(C,O),0,1),COLORWHITE;
STICKLINE(BB AND CC,L,MIN(C,O),0,1),COLORWHITE;
STICKLINE(BB AND CC,O,C,10,1),COLORWHITE;
STICKLINE(BB AND CC AND DD,O,C,10,0),COLORWHITE;
STICKLINE(AA AND CC1,H,MAX(C,O),0,0),COLORWHITE;
STICKLINE(AA AND CC1,L,MIN(C,O),0,0),COLORWHITE;
STICKLINE(AA AND CC1,O,C,10,1),COLORWHITE;
STICKLINE(AA AND CC1 AND DD,O,C,10,0),COLORWHITE;
AAA:=REFX(HHV(C,90),10000);
CURRBARSCOUNT:=REFX(BARPOS,9999)-BARPOS+1;

DRAWCOLORLINE(EMA(C,5)>REF(EMA(C,5),1),EMA(C,5),COLORRED,COLORCYAN;
DRAWCOLORLINE(EMA(C,10)>REF(EMA(C,10),1),EMA(C,10),COLORRED,COLORBLUE;
PARTLINE2(EMA(C,5),EMA(C,5)>REF(EMA(C,5),1),COLORRED,EMA(C,5)<REF(EMA(C,5),1),COLORGREEN;
PARTLINE2(EMA(C,10),EMA(C,10)>REF(EMA(C,10),1),COLORRED,EMA(C,10)<REF(EMA(C,10),1),COLORBLUE);



STICKLINE(EMA(C,10)>REF(EMA(C,10),1),EMA(C,10), MOTHER(C,10)-(H-L)*0.2,10,0),COLORYELLOW;
STICKLINE(EMA(C,10)<REF(EMA(C,10),1),EMA(C,10),EMA(C,10)+(H-L)*0.2,10,0),COLORBLUE;


DRAWICON(FILTER( CROSS( EMA(C,5)>REF(EMA(C,5),1),0.5) ,10),L,4,0),ALIGN(1);
DRAWICON(FILTER( CROSS( EMA(C,5)<REF(EMA(C,5),1),0.5) ,10),H,5),ALIGN(1);

G1:=MA(C,5);
D1:=MA(C,10);
NNH:=BARSLAST(H=HHV(H,7)) ,NODRAW;
NNL: BARSLAST (L-LLV(L,7)) ,NODRAW;
NN:=IF(REF(G1,NNH)>REF(D1,NNH) AND NNH<=4,NNH,IF(REF(G1,NNL)<REF(D1,NNL) AND NNL<=4,NNL,5)) ,NODRAW;
NB:=IF(ISLASTBAR AND NN>0,NN,5) ,NODRAW;
HH:=REF(H,NB)=HHV(H,6);
L:REF (L,NB)LLV (L.6);
FG01: s BACKSET (HH, NB1) and BACKSET (HH, NB), NODRAW;// Set  only the previous 6th 
FD01:=BACKSET(LL,NB+1)>BACKSET(LL,NB) ,NODRAW;
FG02:=FG01=FD01 AND G1>D1,NODRAW;
FD02:=FG01=FD01 AND G1<D1,NODRAW;
TTTT:=BARSLAST(FD01),NODRAW;
FG0:=FG01 AND IF(FG02=1,H=HHV(H,BARSLAST(REF(FD01,1))+1),H=HHV(H,IF(BARSLAST(L=LLV(L,7))>=5,5,BARSLAST(FD01)))) AND FD02=0 ,NODRAW;
FD0:=FD01 AND IF(FD02=1,L=LLV(L,BARSLAST(REF(FG01,1))+1),L=LLV(L,IF(BARSLAST(H=HHV(L,7))>=5,5,BARSLAST(FG01))))  AND FG02=0 ,NODRAW;
GT:=BARSLAST(FG0),NODRAW;
DT:=BARSLAST(FD0),NODRAW;
LLLL:=DT=0 AND REF(DT,1)<GT AND L>REF(L,REF(DT,1)+1),NODRAW;
FG1:=BACKSET(REFX(GT,1)=0 AND GT<DT AND REFX(H,1)>=REF(H,GT),GT+1),NODRAW;
FD1:=BACKSET(REFX(DT,1)=0 AND DT<GT AND REFX(L,1)<=REF(L,DT),DT+1),NODRAW;
FG11:=IF(GT=0 AND REF(GT,1)<DT AND IF(REF(G1,BARSLAST(L=LLV(L,7)))>REF(D1,BARSLAST(L=LLV(L,7))),BARSLAST(L=LLV(L,7))<5,1) AND  H<REF(H,REF(GT,1)+1),1,0),NODRAW;
FD11:=IF(DT=0 AND REF(DT,1)<GT AND IF(REF(G1,BARSLAST(H=HHV(H,7)))<REF(D1,BARSLAST(H=HHV(H,7))),BARSLAST(H=HHV(H,7))<5,1) AND L>REF(L,REF(DT,1)+1),1,0),NODRAW;
Cycle again
GT1:=BARSLAST(FG11<>1 AND FG1<>1 AND FG0),NODRAW;
DT1:=BARSLAST(FD11<>1 AND FD1<>1 AND FD0),NODRAW;
FD2:=BACKSET(REFX(GT1,1)=0 AND DT1<3 AND GT1-DT1<4 AND REF(L,DT1)>LLV(L,GT1+5),DT1+1),NODRAW;
FG2A:=BACKSET(REFX(GT1,1)=0 AND DT1<3 AND GT1-DT1<4 AND REF(L,DT1)<=LLV(L,GT1+5) AND REF(H,GT1)>HHV(H,GT1+5),GT1+1),NODRAW;
FG2B:=IF(GT1=0 AND DT1<4 AND REF(GT1,1)-DT1<4 AND REF(L,DT1)<=LLV(L,REF(GT1,1)+6) AND H>HHV(H,REF(GT1,1)+6),1,0),NODRAW;
FG2:=BACKSET(REFX(DT1,1)=0 AND GT1<3 AND DT1-GT1<4 AND REF(H,GT1)<HHV(H,DT1+5),GT1+1),NODRAW;
FD2A:=BACKSET(REFX(DT1,1)=0 AND GT1<3 AND DT1-GT1<4 AND REF(H,GT1)>=HHV(L,DT1+5) AND REF(L,DT1)>LLV(L,DT1+5),DT1+1),NODRAW;
FD2B:=IF(DT1=0 AND GT1<4 AND REF(DT1,1)-GT1<4 AND REF(H,GT1)>=HHV(H,REF(DT1,1)+6) AND L>LLV(L,REF(DT1,1)+6),1,0),NODRAW;
TTTTTT:=H<REF(H,REF(GT1,1)+1) AND DT1<4,NODRAW;
HHHHHH: REF (LLV(L,10),DT1),NODRAW;
FG21:=IF(GT1=0 AND DT1<4 AND H<=REF(H,REF(GT1,1)+1)  ,1,0),NODRAW;
FD21:=IF(DT1=0 AND GT1<4  AND L>=REF(L,REF(DT1,1)+1) ,1,0),NODRAW;
FD231:=BACKSET(REFX(GT1,1)=0 AND DT1>3 AND GT1>DT1 AND GT1-DT1<4 AND REFX(H,1)>REF(H,GT1) AND REF(L,DT1)>REF(LLV(L,10),DT1),DT1+1),NODRAW;
FG23:=BACKSET(REFX(GT1,1)=0 AND DT1>3 AND GT1>DT1 AND  GT1-DT1<4 AND REFX(H,1)>REF(H,GT1) AND (REF(H,GT1)<REF(HHV(H,13),GT1) OR REF(FD231,DT1)=0),GT1+1),NODRAW;
FG231:=BACKSET(REFX(DT1,1)=0 AND GT1>3  AND DT1>GT1 AND DT1-GT1<4 AND REFX(L,1)<REF(L,DT1) AND REF(H,GT1)<REF(HHV(H,10),GT1) ,GT1+1),NODRAW;
FD23:=BACKSET(REFX(DT1,1)=0 AND GT1>3  AND DT1>GT1 AND DT1-GT1<4 AND REFX(L,1)<REF(L,DT1) AND ( REF(L,DT1)>REF(LLV(L,13),DT1) OR REF(FG231,GT1)=0),DT1+1),NODRAW;
FDD23:=REF(H,GT1)<REF(HHV(H,10),GT1) OR REF(FD23,DT1)=0,NODRAW;
FD24:=BACKSET(REFX(GT1,1)=0 AND DT1>3 AND GT1>DT1 AND GT1-DT1<4 AND REFX(H,1)<HHV(H,GT1+3) AND REF(L,DT1)>LLV(L,DT1+5),DT1+1),NODRAW;
FG24:=BACKSET(REFX(DT1,1)=0 AND GT1>3  AND DT1>GT1 AND DT1-GT1<4 AND REFX(L,1)>LLV(L,DT1+3) AND REF(H,GT1)<HHV(H,GT1+5),GT1+1),NODRAW;
GT2:=BARSLAST(FG21<>1 AND FG23<>1 AND FG231<>1 AND FG24<>1   AND FG2<>1 AND FG2A<>1 AND FG2B<>1 AND GT1=0),NODRAW;
DT2:=BARSLAST(FD21<>1 AND FD23<>1 AND FD231<>1 AND FD24<>1  AND FD2<>1 AND FD2A<>1 AND FD2B<>1 AND DT1=0),NODRAW;
FG3:=BACKSET(REFX(GT2,1)=0 AND GT2<DT2 AND REFX(H,1)>=REF(H,GT2),GT2+1),NODRAW;
FD3:=BACKSET(REFX(DT2,1)=0 AND DT2<GT2 AND REFX(L,1)<=REF(L,DT2),DT2+1),NODRAW;
FG31:=IF(GT2=0 AND REF(GT2,1)<DT2 AND H<REF(H,REF(GT2,1)+1),1,0),NODRAW;
FD31:=IF(DT2=0 AND REF(DT2,1)<GT2 AND L>REF(L,REF(DT2,1)+1),1,0),NODRAW;
GT3:=BARSLAST(GT2=0 AND FG3<>1 AND FG31<>1 ),NODRAW;
DT3:=BARSLAST(DT2=0 AND  FD3<>1 AND FD31<>1),NODRAW;
FG4:=BACKSET(REFX(GT3,1)=0 AND GT3<DT3 AND REFX(H,1)>=REF(H,GT3),GT3+1),NODRAW;
FD4:=BACKSET(REFX(DT3,1)=0 AND DT3<GT3 AND REFX(L,1)<=REF(L,DT3),DT3+1),NODRAW;
FG41:=IF(GT3=0 AND REF(GT3,1)<DT3 AND H<REF(H,REF(GT3,1)+1),1,0),NODRAW;
FD41:=IF(DT3=0 AND REF(DT3,1)<GT3 AND L>REF(L,REF(DT3,1)+1),1,0),NODRAW;
HHH:=GT3=0 AND FG31<>1 AND  FG3<>1,NODRAW;
LLL:=DT3=0 AND FD31<>1 AND  FD3<>1,NODRAW;
//DRAWHORIZONTALLINE(HHH ,H,COLORGREEN),DOT;
//DRAWHORIZONTALLINE(LLL,L,COLORRED),DOT;
STICKLINE(HHH=0 ,REF(H,BARSLAST(HHH)),REF(H,BARSLAST(HHH)),10,0),COLORGREEN;
STICKLINE,LLL-0,REF(L,BARSLAST(LLL)),REF(L,BARSLAST)),10,0),COLORRED;
DRAWNUMBER(HHH,H,H,2),COLORGREEN,VALIGN(2);
DRAWNUMBER (LLL,L,L,2),VALIGN0,COLORRED,VALIGN(0);
H11:-VALUEWHEN (HHH,H),NODRAW;
L1:-VALUEWHEN (LLL,L),NODRAW;

HHH1: VALUEWHEN (HHH,H),NODRAW;
LLL1:-VALUEWHEN(LLL,L),NODRAW;
H2:=VALUEWHEN(HHH,REF(HHH1,1)),NODRAW;
L2:=VALUEWHEN(LLL,REF(LLL1,1)),NODRAW;
E．  The following is an MT5 ideal schematic and a Boe Cloud indicator diagram for reference: 
See annexes 1 and 2. 
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